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• Ñi;k tk¡p dj ysa fd bl iz'u-i= esa eqfnzr iz'u 15 gSaA  
Please make sure that the printed in this question paper are it contains 
15 questions. 

• iz'u-i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcj dksM uEcj dksM uEcj dksM uEcj rFkk lsV lsV lsV lsV dks Nk= mÙkj-iqfLrdk ds eq[;-

i`"B ij fy[ksaA 
The Code No. and Set on the right side of the question paper should be 

written by the candidate on the front page of the answer-book. 

• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA 
Before beginning to answer a question, its Serial Number must be written. 

• mÙkj-iqfLrdk ds chp esa [kkyh iUuk / iUus u NksMsa+A 
Don’t leave blank page/pages in your answer-book. 

• mÙkj-iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% vko';drkuqlkj gh fy[ksa vkSj fy[kk 
mÙkj u dkVsaA 
Except answer-book, no extra sheet will be given. Write to the point and do not 
strike the written answer. 

• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA 
Candidates must write their Roll Number on the question paper.    

SET : D 
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• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u-i= iw.kZ o lgh gS] ijh{kk ds ijh{kk ds ijh{kk ds ijh{kk ds 
m ijkUr  bl lEcU/k esa dksbZ Hkh nkok L ohdk j ugha fd;k tk ;sxkAm ijkUr  bl lEcU/k esa dksbZ Hkh nkok L ohdk j ugha fd;k tk ;sxkAm ijkUr  bl lEcU/k esa dksbZ Hkh nkok L ohdk j ugha fd;k tk ;sxkAm ijkUr  bl lEcU/k esa dksbZ Hkh nkok L ohdk j ugha fd;k tk ;sxkA     

 Before answering the questions, ensure that you have been supplied the 
correct and complete question paper, no claim in this regard, will be 
entertained after examination. 

lkekU ; funsZ'k %lkekU ; funsZ'k %lkekU ; funsZ'k %lkekU ; funsZ'k % 
General Instructions : 

    (i) lHk h iz'u vfuok ;Z gSaA lHk h iz'u vfuok ;Z gSaA lHk h iz'u vfuok ;Z gSaA lHk h iz'u vfuok ;Z gSaA lQðkbZ dk fo'ks"k /;ku jf[k,A 
  All questions are compulsory. Be very careful about cleanliness. 
 (ii) Hkkx & vHkkx & vHkkx & vHkkx & v ds iz'u la[;k 1 ls 10 rd izR;sd iz'u 1 vad dk gSA 
  Question No. 1 to 10 of Part-A carry 1 mark each. 

 (iii) ijh{kkFkhZ Hkkx & vHkkx & vHkkx & vHkkx & v  ds lHkh iz'uksa ds mÙkj isu }kjk fy[ksaxsA ,sls mÙkj ftUgsa dkVk ;k 
cnyk x;k gS] fujLr dj f n;s tk;saxsA 

  All questions of Part-A must be answered with pen by candidates. 
Such answers which are changed or cuttings have been done, shall 
be treated as cancelled. 

 (iv) Hkkx & Hkkx & Hkkx & Hkkx & cccc ds iz'u la[;k 11 ls 13 rd izR;sd iz'u 5 vadksa dk gSA iz'u la[;k 14 
fi.M T;kfefr ls] 10 vadksa dk gSA 

  Question No. 11 to 13 of Part-B carry 5 marks each. Question No. 
14 is from Solid Geometry carries 10 marks. 

 (v) ekWMy dh 'khV ¼Hkk x¼Hkk x¼Hkk x¼Hkk x – llll ½½½½ ij viuk lhV ua0 vo'; fyf[k,A iz'u la[;k 15 ekWMy ekWMy ekWMy ekWMy 
Mªkba xMªkba xMªkba xMªkba x ds 25 vad gSaA 

  Write down your Seat No. on sheet (Part – C). Question No. 15 Model 
Drawing carries 25 marks. 

Hkk x Hkk x Hkk x Hkk x – vvvv 
   PART – A 

uksV %uksV %uksV %uksV %  fuEufyf[kr iz'uksa ds mÙkj ds fy, l ghl ghl ghl gh  fodYiksa dk p;u dhft, rFkk mls viuh mÙkj-

iqfLrdk esa fyf[k, % 
  Choose the correct alternatives for the answer of the following 

questions and write it in your answer-book : 
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  1. ,d fu;fer iapHkqt esa izR;sd cká dks.k gksrk gS % 1 

 (a) 60°  (b) 108° (c) 120° (d) 180° 

 Each external angle of a regular pentagon is of : 

 (a) 60°  (b) 108° (c) 120° (d) 180° 

  2. ;fn ,d leiapHkqt dh Hkqtkvksa dks ?kM+h dh foijhr fn'kk esa c<+k;k tk;s] rks bl rjg ls cus 
cká dks.kksa dk ;ksx gksrk gS  % 1 

 (a) 180°  (b) 360° (c) 72° (d) 108° 

 If the sides of a regular pentagon are extended in anti clock-wise 

direction, the sum of external angles made will be : 

 (a) 180°  (b) 360° (c) 72° (d) 108° 

  3. f=T;k gksrh gS % 1 

 (a) 
4

1
 O;kl (b) 

3

1
 O;kl 

 (c) 
2

1
 O;kl (d) nksxq.kk O;kl 

 Radius is : 

 (a) 
4

1
 of the diameter  

 (b) 
3

1
 of the diameter 

 (c) 
2

1
 of the diameter  

 (d) Double of the diameter 

  4. vuqikr dh ifjHkk"kk gS % 1 

 (a) nks ek=kvksa dk ;ksx 
 (b) nks ek=kvksa esa vUrj 
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 (c) nks ek=kvksa esa lEcU/k 
 (d) lHkh lgh ugha gSa 
 Definition of proportion is : 

 (a) Sum of two quantities 

 (b) Difference between two quantities 

 (c) Relation between two quantities 

 (d) All are not correct 

  5. ,d 'kadq vius òÙkh; vk/kkj HP ij [kM+k gS] bldk l keuh n`'; gksxk %  1 

 (a) f=Hkqt  (b) v"VHkqt  

 (c) iapHkqt (d) lekukUrj prqHkqZt 

 A cone is standing on its circular base on H. P. its elevation will look 

like : 

 (a) Triangle (b) Octagon 

 (c) Pentagon (d) Parellelogram 

  6. Iyku ¼Åijh Hkkx½ dks fdl ij cuk;k tkrk gS \ 1 

 (a) Iyku dks H.P. ij cuk;k tkrk gS 

 (b) Iyku dks V.P. ij cuk;k tkrk gS 

 (c) Iyku dks H.P. ij ugha cuk;k tkrk gS  

 (d) Iyku dks V.P. ij ugha cuk;k tkrk gS 

 Plan is made on which ? 

 (a) Plan is made on H. P. 
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 (b) Plan is made on V. P. 

 (c) Plan is not made on H. P. 

 (d) Plan is not made on V. P. 

  7. ;fn ,d vk;r ds vUrxZr òÙk [khapk tk;s rks og fdruh Hkqtkvksa dks Li'kZ djsxk \ 1 

 (a) 4  (b) 8 (c) 2 (d) 16 

 How many sides of rectangle are touched by the circle inscribed in that 
rectangle ? 

 (a) 4  (b) 8 (c) 2 (d) 16 

  8. ?ku %  1 

 (a) blesa 4 cjkcj oxZ gksrs gSa 
 (b) blesa 5 cjkcj oxZ gksrs gSa 
 (c) blesa 6 cjkcj oxZ gksrs gSa 
 (d) blesa 2 cjkcj oxZ gksrs gSa 

 Cube : 

 (a) It contains 4 equal squares 

 (b) It contains 5 equal squares 

 (c) It contains 6 equal squares 

 (d) It contains 2 equal squares 

  9. , d c s y u  v iu s  xks y k dk j v k / k k j ij  H.P. ij j[kk gS bldk Åijh n`'; gks xk % 1 

 (a) f=Hkqt  (b) vk;r (c) oxZ (d) o`Ùk 

 A cylinder is standing on its circular base on     H. P. Its plan will 
appear like : 

 (a) Triangle (b) Rectangle 

 (c) Square (d) Circle 

10. f u E u  e sa  l s dk S u& l k  B k s l  u gh a  gS  \ 1 

 (a) csyu  (b) 'kadq 
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 (c) o`Ùk  (d) ?ku 

 Which one of the following is not solid ? 

 (a) Cylinder (b) Cone 

 (c) Circle (d) Cube 

Hkk x Hkk x Hkk x Hkk x – cccc 

PART – B 

11. fn;s gq, dks.k ds pkj leku Hkkx djsaA 1 + 2 + 2 = 5 

 Divide a given angle into four equal parts. 

12. ,d o`Ùk [khapsa tks Kkr fcUnq C ls xqtjs rFkk Kkr AB js[kk dks Li'kZ djs] o`Ùk dk v)ZO;kl 
a fn;k gSA 1 + 2 + 2 = 5 

 Describe a circle of a given radius a which shall pass through a given 
point C and touch a given line AB. 

13. AB js[kk ij "kV~Hkqt cuk,¡A ¼fo'ks"k <ax ls½ 1 + 2 + 2 = 5 

 Construct a regular hexagon on a given line AB (with compasses). 

14. v"VHkqt 'kq.Mkdkj vk/kkj H. P. ij fLFkj [kM+k gSA bldk lkeuh vkSj Åijh n`'; cuk,¡A ab 
vk/kkj dh nks Hkqtk,¡  XY ds lekukUrj gksA ¼Hkqtk = 2 lseh] Å¡pkbZ = 5 lseh½ 

2 + 4 + 4 = 10 

 Draw the plan and elevation of an octagonal pyramid of 2 cm, side 5 cm 
height which stands on its octagonal base with two edges parallel to 
XY. 

Hkk x Hkk x Hkk x Hkk x – llll 

PART – C 

15. vkids lkeus ^^^^^^^^ twrs ds fMCcs ij twrs ds fMCcs ij twrs ds fMCcs ij twrs ds fMCcs ij dk¡pdk¡pdk¡pdk¡p     dk fxykdk fxykdk fxykdk fxyk llll ******** j[kk gSA viuh lhV ls tSlk vkidks fn[kkbZ 
ns oSlk gh Mªkbax 'khV ij  cukdj fdlh  Hkh ek/;e ls izdk'k o Nk ;k fn[kk;saA ekWMy cukrs 
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le; vuqikr-lekuqikr] n`f"VØe dk fo'ks"k /;ku j[ksaA fdlh Hkh n'kk esa ijdkj  o QqV~Vs dk 
iz;ksx u djsaA 25 

 In front of you "Glass on Shoes Box" is kept, draw a model on your 
drawing sheet from your seat as you see the objects. Show lights and 
shades from any medium while drawing model Ratio-proportional, 
perspective view must be kept in the attention. Compass and scale 
should not be used in any case. 

S 


